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Annex - 3

Jammu & Kashmir – Projection of Population

Arithmetic Method:

Formula:
 Pt = Po (1+ 10r)



 P 1981
= P1971 (1=10r)



 5987389 = 4616632 (1+10r)



 5987389/ 4616632 = (1+10r)



 1.296917 = 1+10r


 (1.296917 – 1) 1/10 = r



 0.296917 * 1/10 = r

 



 0.029692 = r

For projection of population to 1991, 1971 has been used as the base to maintain linear growth as constant between 1971-1991. Nevertheless, we assume that population has linearly grown after 1981 with observed growth rate ‘r’



P1991
=
P1981 (1+10r)




=
5987389 * (1 + 10 * 0.029692)




=
5987389 * (1 + 0.296917)




=
5987389 * 1.296917




=
7,76,5147



P2001
=
P1981 (1+20r)




=
5987389 * (1 + 20 * 0.029692)




=
5987389 * (1 + 0.59384)




=
5987389 * 1.59384




=
9,54,2940



P2015
=
P1981 (1+34r)




=
5987389 * (1 + 34 * 0.029692)




=
5987389 * (1 + 1.009528)




=
5987389 * 2.009528




=
12,03,1825

P2025
=
P1981 (1+44r)




=
5987389 * (1 + 44 * 0.029692)




=
5987389 * (1 + 1.306448)




=
5987389 * 2.306448




=
13,80,9601

